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I.  Source for inclusion of all items mentioned in Xn»12 under restriction of 1R Y2 — v1 explicated:
a. 727 included in vm via v. 2
b. 9151 excluded from 1nYw5 — substitute for 127 that became Dn Y2 before its time limit came
i. And: the substitute “completed” the time limit — no 7nxn Y1 (yet)
ii. Delayed 277 isn’t 5091 in spite of the violation — from Ron 42 M — (RoN 7272 RHY)
1.  Re 7192 we know from comparison to 7wyn (v. 3); re others (from nx»), derived from here
a. Challenge: derived from v. 4 — only %2 is unacceptable
2. Rather: xon 72 m — and your wife is not held culpable (contra v. 5)
c.  Further explication: of v1 for n"y ,nwy mxn and purview of 11 to coerce
i.  Challenge: all 3 derived from other sources (»"n — v6; n" — basic line of v1 [Anxn Ya])
1. And:7"1- as application of v7 (1%19)
2. Answer: our verse refers to one who didn’t yet designate an animal;
a.  Other verses: where animal was designated but not yet brought
7272 case where he took a 971 on condition that he has no nvnx (=ham)
e. Ap7¥=pox obligated immediately (since there are o1y around now)
f.  Time frame: once 1 931 passed without bringing, violates nwy
i. Challenge: from story of v»aa "1 (born on noa brought on an [2mM2v])
ii. Answer: was sick on m»aw or "n” means M1V
iii. X327 once 3 WY1 passed, each day is another 15 of Inxn Ya
g. Note: Xn»12 mentioned “a year without 3 @93 passing or 3 m'931 without a year passing”
i.  Year without 3 0’517 possible according to 11 (leap year)
1. Even according to opom: possible if length of 9781 j071 are flexible (n'ynw 29)
a. Impossible: according to o nx (length of year is static)
II. 3 questions regarding Inxn %2
a.  ~N7r’1 does an heir “take on” the time parameter vis-a-vis Inxrn 91?
i.  Answer: qayn (v1) excludes an heir (19 includes nkoy nnaw ,0pY, YN excludes heir)
b. X7 /7 are women liable for anxn 9a?
i. Lemmal: exempt, since no obligation of n”xY
ii. Lemma2: obligated, since they have an obligation of nnnw
1. Note: according to »aR, they have no personal obligation of nnnw
c. 722 from when does the year begin for a 1132?
i. If omr from 8t day (when it could have been brought)
ii. If »’v2 and we know that it had a full gestation, from day of birth
1. Reason: at that point, it could have been slaughtered by 112
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